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Examinel
Zle = only
1. Ceri has a set of cards.
Each of her cards is labelled North, East, South or West.
The able below shows the probability distribution when a card is taken from the set of cards at
random.
Label North East ' South ' West
| | Probability 0-4 0-25 0-2 0-15

/a)  Ceri chooses one card at random from her set of cards.

{rs
What is the probability that the card is labelled East South? [2]
O O i
= O

................................................................................................................................

(b) Sasha has an identical set of cards.
Ceri and Sasha each choose one card at random from their set of cards.

What is the probability that they both choose a card labelled North? [2]

.....................................................................................................................................................................................................

AR
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(c) Draw the line y = -3 on the graph paper.

Write down the values of x where the line y = =3 cuts the curve y = x2—5x + 2.

Examine
only

Give your answers correct to 1 decimal place. 2]
Values of x are bk i arid el
3. (a) Express 700 as a product of its prime factors in index form. [3]
................. g (o SR - RN L SO ... W et
| ey X o
=S Lo W 100..5 2 X AU DX Koo
/ 2 '2
Bl o 2 A BB i e
“~ __&
................... e e ———
(b) The number 33554432 is equal to 2%°.
Explain how this tells you that 33554432 is not a square number. 1
................................................. b €52 v K 08 I ML O
TOTINY (TS SO 11T R L1051 SR
....................................................... 35, is...an..odd valuod. JOLEC. i
i (BB EBIEI BIII
IIELRH
(e8I RRIEI 1L AR
05 7 © WJEC CBAC Ltd. (3300U50-1) Turn over.



4. (a) : y

)
\ M(u,’\\:t

Sl(,})a,

ey

0 \'“’C

Which one of the following equations could represent the line shown in the graph above?
Circle your answer. 11

y=-=x-2 <£Z‘::\j y=x+2 y=x-2 Y =X

(b)  Which one of the following points lies on the line 2y = 3x + 47

Circle your answer. 1]
2,-5) (5. 2) (-2, 5) 2,5) -2,=5)
.................................................... 2 U:J?A‘H!—
................................ Y (28).....205).. 2. 302 bl
............................................................. oSl AP S S i) S
(c) y
|
4
2_.
0 2 T T == X l’ﬂ = ‘i_ —2
§/3 5 9 3
K4
What is the gradient of the line shown in the graph above?
Circle your answer. 1]
3 2 2 =
2 7 3 ) 3 6

Exar

L
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5. in this question, you will be assessed on the quality of your organisation and communication.
A whole number is written on a card. .
You are given three cllues to help you work out the number on the card.
Clue 1: Double the number.is between 8 and 18 inclusive.
Clue 2 : The number is a prime number.
Clue 3 : The number is not a factor of 100.

What is the number on the card?
You must show all your working. 5+ 1 0C]

{4'0!'Y\ C\ULE 3 : ]\/ )+ Q (}o of }CC lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

cank e 5.

means ..« ‘

...........................................................................................................................................................................................................

.........................................................................................................................................................................................................

...................................................................................................................................................................................................
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6. In the following formulae, each measurement of length is represented by a letter.

Consider the dimensions implied by the formulae.
Write down, for each case, whether the formula could be for a length, an area, a volume or none

of these.
The first one has been done for you. : _ [3]
Formula Formula could be for
d3=314r*h e volume ...
dr+ hw LA

area +aeq = el

d+wth ST 3T e L“\bu\ ..........
L +L+L = Lae\sl"'\

Vo D e e none .
\»\3){'\ - e = imPCSS\")li

e A — Led
LL) LD = (40 748

e TR L ——— Vc\w“@
vel + wvel = volume

Examinz
only
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Examin

7. A group of 20 people visited Anglesey for a weekend break.
« 10 of the group visited Beaumaris Castle.

« 13 of the group visited South Stack Lighthouse.

« 4 of the group did not visit either of these places.

(a) Complete the Venn diagram below to show this information.
The universal set, €, contains all of the 20 people in the group.

g Castle =y Lighthouse
Lel- oc <

be AN BCH\
Canlde L;:]F\;f
L\ﬁh UL IE

(b) One person is chosen at random from the group.

SRS V.V TIPSR/ St € 0.7 & WO m.,..dﬂ;&ﬁ.mm ....................................................

What is the probability that this person visited only one of the two places?

|

P Catle B Fr‘."..ﬂ.ﬂ’&%fe..,..stnkj‘,
.................................................... o Bl e ————
R0
''''''''''''' #5504
A0

only

(21

'
i
i

|

i

(3300U50-1)
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10

Solve the following simultaneous equations using an algebraic (not graphical) method.

I !
X L

3x+4y=7 — (L
2x-3y=16 — 3~

[4]

T

€ WJEC CBAC Ltd.

(3300U50-1)
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9. Calculate the value of (541 x 10%) + (2:3 x 10%).
Give your answer in standard form. . [2]

5 . "
.......................................... o S (R geoR RO - i S

..........................................................................................................................................................................................................
.........................................................................................................................................................................................................

...........................................................................................................................................................................................................

10. In this question, you will be assessed on the quality of your linguistic and mathematical accuracy
in writing.

Rashid owned » sheep.
Eifion had exactly 4 times as many sheep as Rashid. L;_ﬂ

Rashid buys 17 extra sheep. N+ |1
Eifion sells 8 of his sheep. Ln-Y

Eifion still has more sheep than Rashid.

Form an inequality, in terms of .
Solve the inequality to find the least value of n.

You must show all your working. ‘ [5+1W]
2 e 2 X pressions dbove e ——
........ L0 =R 2 DE L
.................. /]\ AN R SO SR eA EE Y R R ER T AR RSN SR A R R

moe N

......................... iy L - e e———

................................ QB . St RS T
sy

"""""""""""""""""" ;”\73‘/3

..........................................................................................................................................................................................................

2
..........................................................................................................

...........................................................................................................................................................................................................

ettt L e N e e R T R e e L e

© WJEC CBAC Lid. (3300U50-1) Tu!’n over.
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1. (s Evaluzte 4977 .
l

Express 0-372 as a fraction.

N\
v

P

07

a,d’emaé t ve(j (J(;; =

T

:(I\/‘ ql/
4 =

‘{.—
= Qﬁ’v'ﬁ

—

I

4 9 © WJEC CBAC Ltd.
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12. A, Band C are points on the circumference of a circle.
XY is a tangent to the circle at the point A.

Diagram not drawn fo scale

N\ Vs
BAY = 74° and ABC = 53°.
Prove that triangle ABC.is an isosceles friangle.
You must give a reason for any statement that you make or any calculation that you carry out.

. (9]
f A Q -
e FASEL AR 2 Tl he caun of . olbemaks. seament...
...................................................................................................................... thegem

.......................................................................................................................... L N
’ O
........................................................ e ThOre... a2 B FOGN .. O DB
A ” A
................................................................................ 54Aa4d/45‘-
"""""""""""""""""""""""""""""""""""""""""""""" o‘:ISC& eg%'a’"\j A R s
MW
13 . © WJEC CBAC Ltd. {3300U50-1) 3 Turn over.
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2
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x+y
Z

X 2=t
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On the graph paper below, draw the region which

Clearly indicate the region thatr

(@)
wndeu

13
b

@)

7

5 3

iy

v

_Lf» x

B

y
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(b) () Whatis the greatest possible value of x such that all three conditions are met? [1]

T S
(i) Whatis the greatest possible value of y such that all three conditions are met? [1]
A — 8 .............................

© WJEC CBAC Ltd. 50-1)
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14. SSS, SA
two triang!
[S = Side, A=

The following triangles are not drawn fo scale.
For each pair of triangles, circle the correct statement.

S, ASA and RHS are notations used to describe the conditions requi
es are congruent.

red to prove that

Angle, R = Right angle and H = Hypotenuse.]

(@ [
56° 56°
640 600 64 600

congruenQ congruent: congruent: congruent: definitely not necessarily

SSS SAS ASA RHS not congruent congruent

¢ al\ ang)lé’o whe dp»i’ﬁ( )
sildos are egoad .
(b) X
, / 56° —
7-8cm / 78cm/ 5b
&64‘0 600 640

congruent: congruent: congruent: congruent: ,m not necessari

SS SAS ASA RHS (‘not congruent ) congruent

(c)
7-8cm e
64°
7-2cm

5 r(‘“""‘-—.‘u\ 1. . (R s o R >

congruent: Congruenrt) congruent. congruent: definitely not necessce

SSS SAS ASA RHS not congruent congruer

© WJEC CBAC Lid. (3300U50-1)
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15. (a) Using the axes beloe graph of y =sinx for values of x from 0° to 360°.
You must label any imporfant values on both axes. 2]
X
A
o4+
] .y
0 : -
¢ q0°
(b)  Circle the value that is equal to sin 200°. (11
F\
sin 20° sin 100° sin 160° sin 220° sin 340° )

FfDM 5'fMMe/ij A c[ré/zjf&lﬂ

[T

© WJEC CBAC Ltd. {3300U50-1) Turn over.
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Exam
16. The diagram shows two rectangles. g
(x—-3)cm (x-1cm
N |
A : @ i
C‘
2xem
Diagram not drawn to scale
The combined area of both rectangles is 50 cm2.
rectangles, show that 2x? — 5% — 25 = 0 and hence find the
16l

By considering the areas of the two

value of x.
 Totel asa = i T |
20 @3)31 ....... +le)x ........................................ .

.................................................. 50:31-‘1:>c+-:f
50 = Lx= \C

................................................

............................................................................................................................
£

= Hem .

mmow 00
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117. A bag contains 6 red blocks, 4 green blocks and 2 yellow blocks.
Three blocks are taken from the bag, at random, without replacement.

(a) What is the probability that the first block removed is red, the second is green and the

third is yellow? 21|
........................ N P S e s s
= [—b— X _L.t. X /_l_
"""""""""""" (‘\‘JQ/H )\(\L(
Ui UL
= L%i-x~ﬁ;)<i_a/
"""""""""""""""""""""""" T  Ht i rut e et e e i e
_ F Xexl - L - 2
""""""""""""""""""""""""""" Rl g Ee e
(b) Calculate the probability that all three blocks will be the same colour. [3]

Examin
only

1220 1320
"""""""""""""" e g R T e T
-------------------------------- LByl BBy gy Gy s
(c) Write down the probability that the three blocks will not be the same colour. 1]
.......................................... C . W - SR R R T
S
""""""""""""""""""""""""""""""" = B bl i Al . g%
...................................................................... CS;"S ‘*S-
"""""""""""""""""""""""""""""" é!mwfuﬁwmw“mwW””WWWWW“W““WWWW”“WW“”
SIS
19 ] © WJEC CBAC Ltd. (3300U50-1) ' Turn over.
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L

x2 has been drawn below, for values of x from x = 0tox=6.

48. The graphofy

=6,1

=5and x

=4, X

=3, %

x=1,x=2, X

x =0,

nown

G
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d

ium rule, with

trapez
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1
-+

egion
2,

r

d
+

bh +

i

hade
(.

of the s

al
A

[=Y
=

ie

a

m

esii

X

=3
25

Coigriraanaen

bh +@1“9 h

P

Soeagarsnvs sy HUAEIE i

C
o

=2
1y
2

+ (at

N

)
&

(a
T
=
.

A

425 )1+ (

+L}>‘ +(1+‘r‘-‘{>'\

2

EIRE
£

«

(3300U50-1)

C CBAC Ltd.

©WJE




21

19. By considering algebraic expressions, show that it will never be possible for the surface area of
a sphere of radius r to be equal to the surface area of a cube with sides of length r. [2]

...........................................................................................................................................................................................................

.............................................................................

............................................................................................................................................
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